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Example

1. The symbol of p-n-p transistor is

A. 

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_NsDMKUkr9Rsg


B. 

C. 

D. 

Answer: C

Watch Video Solution

2. The output waveform of AND gate for the

following input waveforms is

https://dl.doubtnut.com/l/_NsDMKUkr9Rsg
https://dl.doubtnut.com/l/_ykVDQsqgyK0e


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_ykVDQsqgyK0e
https://dl.doubtnut.com/l/_9Y0himMi9g5I


3. The following truth table corresponds to

A. AND Gate

B. OR Gate

C. NOR Gate

https://dl.doubtnut.com/l/_9Y0himMi9g5I


D. NAND Gate

Answer: D

Watch Video Solution

4. The output Y for logic diagram shown below

is

https://dl.doubtnut.com/l/_9Y0himMi9g5I
https://dl.doubtnut.com/l/_KXKTyc9VGXrg


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Y = ¯̄̄A + ¯̄̄B + ¯̄̄C

Y = ¯̄¯̄̄ ¯̄¯A. B + ¯̄̄A . C + ¯̄̄B. C

Y = (¯̄¯̄¯̄¯̄¯̄¯A + B) + (¯̄¯̄¯̄¯̄¯̄¯B + C) + (¯̄¯̄¯̄¯̄¯̄¯C + A)

Y = ¯̄̄AB + ¯̄̄B. C + ¯̄̄CA

5. The output of the following logic circuit is 

https://dl.doubtnut.com/l/_KXKTyc9VGXrg
https://dl.doubtnut.com/l/_WX5u5TEBKxzi


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Y = A + ¯̄̄B

Y = ¯̄¯̄̄ ¯̄¯A. B

Y = ¯̄̄A + B

Y = ¯̄̄A . ¯̄̄B

6. The logic circuit (figure) represents which

logic gate?

https://dl.doubtnut.com/l/_WX5u5TEBKxzi
https://dl.doubtnut.com/l/_BaPzuLfRA8VR


A. NAND gate

B. AND gate

C. XOR gate

D. NOR gate

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_BaPzuLfRA8VR
https://dl.doubtnut.com/l/_Q5Nh0lzgAnRb


7. In a common emitter amplifier, the input and

output voltage are out of phase by

A. 30°

B. 90°

C. 120°

D. 180°

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_Q5Nh0lzgAnRb


8. A CE amplifier has voltage gain of 50, an

input impedance of 2000 ohm and an output

impedance of 400 ohm. The power gain of the

amplifier will be

A. 22500

B. 12500

C. 32500

D. 4100

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_NrO7iB59RNSa


Watch Video Solution

9. The number of terminals in 

transistor is

A. 2

B. 3

C. 4

D. 5

Answer: B

Watch Video Solution

n − p − n

https://dl.doubtnut.com/l/_NrO7iB59RNSa
https://dl.doubtnut.com/l/_przU9wY1B7K9


10. An AND gate can be prepared by repetitive

use of

A. NOT gate

B. XOR gate

C. OR gate

D. NAND gate

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_przU9wY1B7K9
https://dl.doubtnut.com/l/_Cuu5SUJpm5v2


11. For a transistor, in a common emitter

arragement, the alternating current gain  is

given by

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution
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https://dl.doubtnut.com/l/_254s6S6XBDLf


12. Transistors can work as a switch in

A. Saturation region

B. Active region

C. Cut off region

D. Both (1) and (3)

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_fMTMXdnYumz3


13. Transconductance in CE amplifier circuit is

defined as

A. Ratio of change in collector current to

the change in emitter current

B. Ratio of change in input base-emitter

voltage to the change in emitter current

C. Ratio of change in collector current to

the change in input base-emitter voltage

https://dl.doubtnut.com/l/_TsJj7QyTPDdR


D. Ratio of change in emitter current to the

change in input base-emitter voltage

Answer: C

Watch Video Solution

14. Power Gain of CE amplifier circuit is given

by

A. Voltage gain × current gain

B. Voltage gain/Current gain

https://dl.doubtnut.com/l/_TsJj7QyTPDdR
https://dl.doubtnut.com/l/_JZmFbidUFLr3


C. Current gain/Voltage gain

D. (Voltage gain)^2 × current gain

Answer: A

Watch Video Solution

15. The following gate is equivalent to 

A. OR gate

https://dl.doubtnut.com/l/_JZmFbidUFLr3
https://dl.doubtnut.com/l/_8NlVy6WCYaxY


B. AND gate

C. NOT gate

D. XOR gate

Answer: C

Watch Video Solution

16. The element X and Y in the communication

system (figure) are respectively

https://dl.doubtnut.com/l/_8NlVy6WCYaxY
https://dl.doubtnut.com/l/_udHcITPfZ6We


A. Noise, channel

B. Receiver, channel

C. Receiver, noise

D. Channel, receiver

Answer: D

Watch Video Solution

17. The length of half wave dipole antenna at

50 MHz is

https://dl.doubtnut.com/l/_udHcITPfZ6We
https://dl.doubtnut.com/l/_qrIrzE0W6nSP


A. 5 m

B. 4 m

C. 3 m

D. 2 m

Answer: C

Watch Video Solution

18. The process of increasing the strength of a

signal using an electronic circuit is called.

https://dl.doubtnut.com/l/_qrIrzE0W6nSP
https://dl.doubtnut.com/l/_we4dRpA9fKH0


A. Attenuation

B. Amplification

C. Modulation

D. Demodulation

Answer: B

Watch Video Solution

19. A device that converts one from of energy

into another form is termed as

https://dl.doubtnut.com/l/_we4dRpA9fKH0
https://dl.doubtnut.com/l/_AzKRp27xTbhH


A. Transducer

B. Channel

C. Repeater

D. All of these

Answer: A

Watch Video Solution

20. The power radiated by linear antenna of

length 'l' is proportional to ( =wavelength)λ

https://dl.doubtnut.com/l/_AzKRp27xTbhH
https://dl.doubtnut.com/l/_Pt04qj4CbzEF


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

P ∝ ( )
l

λ

P ∝ ( )
2

λ

l

P ∝ ( )
2

l

λ

P ∝ ( )
λ

l

21. One of the components of frequency of

amplitude modulated wave (AM) formed by

the superposition of message signal of

https://dl.doubtnut.com/l/_Pt04qj4CbzEF
https://dl.doubtnut.com/l/_HyjHxlFFom9a


frequency  on a carrier wave of frequency 

is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

ω1 ω2

ω1

ω1

2

ω2

ω1 + ω2

2

https://dl.doubtnut.com/l/_HyjHxlFFom9a


22. Amplitude modulation index  determines

A. The quality of received signal

B. The quality of transmitted signal

C. The quality of carrier wave

D. Both (1) and (3)

Answer: B

Watch Video Solution

μ

https://dl.doubtnut.com/l/_K3vqVUI4i5oA


23. If  and are the amplitudes of

modulating signal and carrier wave

respectively, then modulation index is given by

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Am Ac

μ =
Am

Ac

μ =
Ac

Am

μ =
A2

c

Am

μ =
A2

m

Ac

https://dl.doubtnut.com/l/_meKu7s4fcpec


24. The maximum line-of -sight distance 

between two antennas having heights  and 

 above the earth is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

dM

hT

HR

dm = √2RhT − √2RhR

dm = (√2RhT − √2RhR)
2

dm = √2RhT + √2RhR

dm = (√2RhT + √2RhR)
2

https://dl.doubtnut.com/l/_hqUq68KBHlWw


25. The amplitude modulated signal consists

of two sinusoidal waves of frequencies, (

angular frequency of carrier wave) (

angular frequency of modulating signal)

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

ωc →

ωm →

,
ωc

2

ωm

2

,
ωc + ωm

2

ωc − ωm

2

,
ωc

ωm

ω2
c

ω2
m

ωc + ωm, ωc − ωm

https://dl.doubtnut.com/l/_mcspajo4aDpi


26. An AM transmitter radiates 70 kW of

carrier power. The radiated power at 75%

modulation would be

A.  kW

B. 79.20 kW

C. 85.59 kW

D. 83.69 kW

Answer: A

89.69

https://dl.doubtnut.com/l/_mcspajo4aDpi
https://dl.doubtnut.com/l/_Ezit0vdowhLf


Watch Video Solution

27. If  and  are angular frequencies of

carrier wave and modulating signal

respectively, then Band width of amplitude

modulated waves is equal to

A. 

B. 

C. 

D. 

ωc ωm

ωc + ωm

2

2ωm

2ωc

ωc − ωm

2

https://dl.doubtnut.com/l/_Ezit0vdowhLf
https://dl.doubtnut.com/l/_ZI9owG1By2iM


Answer: B

Watch Video Solution

28. Communication through free space using

radio waves takes place over frequency range

of

A. Few tens of MHz to a few GHz

B. Few tens of KHz to a few hundreds of

KHz

https://dl.doubtnut.com/l/_ZI9owG1By2iM
https://dl.doubtnut.com/l/_ghxCeQfTqUUZ


C. Few tens of GHz to a few hundreds of

GHz

D. Few hundreds of GHz to few thousands

of GHz

Answer: A

Watch Video Solution

29. During the process of modulation, if phase

of the carrier wave is varied in accordance with

https://dl.doubtnut.com/l/_ghxCeQfTqUUZ
https://dl.doubtnut.com/l/_EUHsYIW51nhe


information/message signals then it would

result in

A. Amplitude modulation

B. Frequency modulation

C. Phase modulation

D. All of these

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_EUHsYIW51nhe

